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S.NO QUESTIONS ANSWERS AND EXPLANATION 

1 The reason behind India 
reaching the third highest 
ranking in terms of tourist 
growth is _____. 

(b) 7.9% growth projection from 
2013 to 2023, in tourism. 
( RTC BASED) 
 

2 According to the writer where 
was the location of the 
Mehrangarh Fort? 

(d) it was located at Bhaurcheeria, a 
rocky hill, nine km to the south of 
Mandore. 
( RTC BASED) 
 
 

3 What two reasons are cited for 
the shortage of water at the 
fort? 

(c)The occurrence of drought every 
3-4 years and the associated belief of 
a curse. 
 
( RTC BASED) 
 

4 According to your reading, 
which statement contradicts 
the secure measures against the 
enemy, at the fort? 
 
 

(b) the beautiful gardens and palaces 
of the fort overlooked the battle 
scenes 
 
( RTC BASED) 
 

5  
Choose the most appropriate 
answer: 
 

Only two are correct 
- The professor lived in the 

alternative world for two days. 
- Professor Gaitonde and Khan 

Sahib got off at the Victoria 
Terminus station. (also known 
as CST) 
 
 
 



Other two are wrong: 
- Professor Gaitonde was 

travelling by Jijamata Express 
from Pune to Bombay not 
Bombay to Pune. 

-  Professor Gaitonde enquired 
about his son Vinay Gaitonde 
not the President of the 
company on entering the 
Forbes building. 

6 There is a general belief (a) 
………… students that (b)………. 
who write long sentences (c) 
………. more marks. 

(a) Among, (b) those, (c) get 

7 Choose the correct determiner: 
Unfortunately, our local library 
had ________ books on the 
subject, so I'm going to the city 
library tomorrow hoping to find 
________ more. 
 

Few , some 

8 I ________ the bell six times but 
no one opened the door. 

Rang  
The sentence is in simple past tense.   
‘Have rung’ is present perfect, ‘ring’ 
is simple present, ‘was ringing’ is past 
continuous. 

9 'The idea of it might have been' 
may be good for speculation but 
not for reality said Professor 
Gaitonde. What was Rajendra's 
reply? 
 

(a) That reality may not be unique. 
 
Fact from the chapter. 

10 Choose the correct option to 
match column 'A' with the 
column 'B'. 

I -a,  ii- c,  iii-e,  iv- b 

 


